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s REw / General instructions:

i) This question paper is divided into four sections- A, B, C and D.

ii) All questions are compulsory.

jii) Separate instructions and options are given with each section and question, wherever
necessary. Read these instructions very carefully and follow them.

iif) Do not attempt more questions than you are required to.

iv) Marks are mentioned against each question.

" SECTION A- READING (20 marks)

Q1. Read the following passage:

Renewable energy is energy that comes from natural sources that can be replenished, such as

sunlight, wind, water, and geothermal heat. Unlike fossil fuels like coal and oil, renewable

energy sources do not pollute the environment. They are cleaner and better for the planet than

the fossil fuels.

Solar energy, for example, uses sunlight to produce electricity. It is captured using solar panels,
which are installed on rooftops or in large solar farms. Wind energy uses wind turbines to

generate electricity. These turbines are often found in open areas or offshore, where the wind is

strong.

Hydropower i another important form of renewable energy. It uses the flow of water, such as

rivers or dams, to produce electricity. Geothermal energy, on the other hand, uses heat from

beneath the Earth's surface to generate power.

One of the main challenges of ‘renewable energy is that it depends on nature. For example,
solar panels cannot produce electricity at night, and wind turbines need strong winds to work
efficiently. Despite these challenges, renewable energy is a key solution to reducing pollution
and fighting climate change.

1.1 Based on the reading of the above passage, answer the following questions. ~ 1x8=8
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- What is renewable cnergy?
a) Energy that cannot be replenished

b) Encrgy from natural sources that can be replenished

¢) Encrgy made from coal and oil

d) Encrgy that is only availablc at night

- Which of the following is NOT a source of renewable energy?

a) Solar energy
b) Wind energy
¢) Hydropower
d) Coal

- How is solar energy captured?
a) Using wind turbines

b) Using solar panels

¢) Using water wheels

d) Using geothermal wells

. Where are wind turbines often found?
a) In cities

b) In open areas or offshore

c) In underground caves

d) In solar farms

. What does hydropower use to generate electricity?
a) Sunlight

b) Wind

c) Water flow

d) Heat from the Earth's surface

. What is the challenge faced with respect to generating solar energy?

a) It pollutes the environment

b) It is expensive to install
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c) It cannot produce electricity at night

d) It cannot be uscd in deserts

7. Why is rencwable energy better for the environment?
a) It does not pollute the environment
b) It is cheaper than fossil fucls
¢) It can be stored casily

d) It works everywhere

8. What is one-way geothermal energy is used?
a) By capturing sunlight
b) By using heat from beneath the Earth’s surface
c) By hamessing the power of waves

d) By using wind turbines
Q2. Read the following passage.

The Discovery of Penicillin

In 1928, a scientist named Alexander Fleming made a discovery that changed the world of
medicine forever. He was studying bacteria in his laborz;tory when he noticed something
unusual. A mould called Penicillium had accidentally grown on one of his petri dishes and
killed the bacteria around it. This was the beginning of penicillin, the world’s first antibiotic.

Penicillin could kill harmful bacteria without harming the patient, making it a breakthrough in
treating infections. Before its discovery, many people died from simple infections like cuts or
sore throats. During World War II, penicillin saved thousands of lives by treating infected

wounds and illnesses. '

Although Fleming made the initial discovery, other scientists worked hard to turn penicillin
into a medicine that could be produced on a large scale. Today, antibiotics are widely used to
treat bacterial infections, but scientists remind us not to overuse them, as bacteria can become

resistant.

2.1. Choose the correct answer. 1x4=4
1. Who discovered penicillin?

a) Louis Pasteur

b) Alexander Fleming
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) T Nipwiom
) Noawsie Oy

2. Wl ie pewiciliin®
2) A e of bactorna ‘
b)Y The first antitvotie
©) A Lind of mould that canses illncss

) A vitamin supplement

<. What major event highlighted the importance of penicillin?
2) The Industrial Revolution
b) World War 1
¢) The invention of the microscopc
d) The discovery of electricity L

4. Why is it important not to overuse antibiotics?
a) They might run out of stock.
b) Bacteria can become resistant tg them.
¢) They can stop working after a while.
d) They are too expensive.

2.2. Answer the following questions briefly. 2x4=8

a) What was Alexander Fleming studyinnghen he discovered penicillin, and what

unusual thing did he notice?
b) Why was penicillin considered a breakthrbugh in medicine? 3

¢) How did penicillin save lives during World War II?
d) What caution do scientists give about the use of antibiotics today, and why?

SECTION B - WRITING (20 marks)
Q1. You lost your water bottle in the playground during recess. Write a notice for the

school notice board informing students about it.
OR

Rahul had the following conversation with Arjun, a classmate of his younger sister
Riya. As Rahul had to leave for his cricket practice, he left this message for Riya.

Write the message that Rahul left for Riya in about 50 words.
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Arjun: Hello! Can I speak to Riyn, please?
Rahul: She is not at home right now, [ am her brother Rahul. May | know whe i4 ealling?

Arjun: I am Agun, her classmate,
Rahul: Oh, 1 sce. Riya has gone to the park and will return in an houe. Do you have 4

message for her?
Arjun: Yes, please. Could you tell her to bring her science textbook to school tomorrow?? |

need it for completing the project.
Rahul: Sure, I will let her know.

Q2. Write a letter to your cousin describing how you celebrated Diwall with your family
this year. 7
OR
Write a letter to your best friend describing your experience at your school's Annual
Day.
Q3. Write a meaningful story using the following outline about 100 to 150 words. Give a
suitable title to the story. 8

Moral: Sharing and kindness bring happiness.

SECTION C - GRAMMAR (15 MARKS)

Q1. In the following passage, each line has an error. Edit the passage by identifying the
wrong word in each sentence, then write the incorrect and the correct word in your

answer sheet. 1/2x6=3

Incorrect Correct
i) A healthy lifestyle are essential for a happy life. -
ii) We should late balanced meals and Qxercise regularly.
iii) There is many reasons to be happy.

iv) Many people ignores these habits
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WV wnd el T vaiioie heallh e,

N Evaryone ahonld talkes steps 1o load a healthier life. —

QXL Fill in the blanks with the past perfect form of verbs given Ixd~4
within the brackets,
() Prabhat already his homework before going to the badminton

match. (finish)

(b) Surya basketball for years before joining the school’s badminton team.

(play)
(c) By the time Prabhat arrived, Surya already several matches.
(Win)
(d) The new student, Surya, Prabhat before coming to the school. (never meet) :?)
Q3. Rearrange the words to make meaningful senter;ces: 1x4=4 |

a) me/was/on/the/hilllbeauﬁﬁ]/view/top/of/the
b) she/food/offered/and/clothes/to/the/beggar
c) found/book/she/library/in/the/the

d) studied/he/all/night/for/the/exam

Q4. Complete the dialogue between two friends, Rina and Priya by choosing the correct
options. 4

Rina: Hi Priya! How was your weekend? : w

Priya: It was great! I went to the park with my family. We had a picnic and played some
games.

Rina: That sounds fun! (1) ?

Priya: Yes, we played badminton and soccer. My little brother was so happy when he scored
a goal!

Rina: (2) ! I love playing soccer too.
Priya: You should come with us next time! It would be so much fun if you came!

Rina: I’d love to! (3) ?

Priya: We are planning to go this Saturday. Would you like to join us?

Rina: (4) . I'1l bring my soccer ball!
" Ppage6of8
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1. (A) Did you played any sports? (B) Had you play any sports?

(€) Were you play any sports? (D) Did you play any sports?

2. (A) That sounds boring! (B) I wish we could cnjoy a picnic together.
(C) I'wish you better luck! (D) I wish you a great day!

3. (A) When are you going next? (B) When you arc going next?
(C) Where will you go next? (D) Why will you going again?

4. (A) Yes, I'm free this Saturday! (B) No, I’m going out of station.

(C) Yes, I'm going on another picnic! (D) No, I’'m not free this Saturday!

SECTION D - LITERATURE (25 marks)

and answer the
1x4=4

Q1. Read the following lines from the poem — ‘What a Bird Thought’

questions given below.

I thought the world was made of straw,
And nestled by my mother.
One day, I fluttered from my nest,
To see what I could find,
1 said the world is made of leaves,

1 have been very blind.

a) Who lived in the nest along with the baby bird?

b) The bird thought the world was made of straw because
i.  itlived in a straw hut
ii.  its nest was made of straw
ifi. its mother fed straw to it
iv.  there was straw all around
c¢) Which word tells us that the baby bird was warm and comfortable?
d) What does the set of words ‘I said’ mean?

a. flew b. shouted . c. spoke d. cried

Q2. Read the following lines from the lesson — ‘Change of Heart’ and answer the

questions given below. 1x4=4

Surprisingly, Prabhat could not sleep well that night. He had won the game but he did not
feel as happy as he usually did. What was surprising was that Surya did not feel bad about
losing. What was more surprising was that Prabhat saw Surya playing basketball the
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next day. N
(i) Select the one option that tells us about the way Prabhat was feeling
a. hurt b. unhappy c. afraid d. focused

(i) Why does Prabhat find Surya’s behaviour ‘surprising’?

(iii) We can say that Surya’s reaction to not winning was_______ (similar to/as serious
as/different from) Prabhat’s.

(iv) State whether the following sentence is true or false:
Prabhat would accept losing to anyone easily.
Q3. Answer any six of the following questions in about 30-40 words each. 2x6=12
1. Which parts of the neem tree are used to make medicines?.
2. If you were the kite carrying the child high up in the air, what would you tell them?

3. What is common in the toys made in Balamurali’s village and coconut shell craft in
Kerala?

4. How is neem useful to farmers?
5. Why do you think we should know about the healing properties of spices?
6. What is the air'n of yoga?
7. What creative ways did Ila and her family use to overcome the challenges she faced?
8. Describe one long-term effect that the practice of yoga can have on a person’s qualities.
Q4. Answer any one of the following questions in about 80-100 words. 5 ’

1. How can Ila’s story help others to overcome challenges in their lives?
OR
2. Why do you think sporting spirit is important?
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JIHIAGN / General Instructions:

1. All questions are compulsory.

2. The Question paper consists of 5 sections.

3. Section A consists of 20 MCQs of 1 mark each.

4. Section B consists of 5 questions of 2 marks each.

5. Section C consists of 6 questions of 3 marks each.

6. Section D consists of 3 case base study questions of 4 marks each.
7. Section E consists of 4 questions of 5 marks each.

SECTION-A (20 x 1M =20M)

1. Which of the following is not a prime number: [1]
(a)31 (b) 41 (c) 51 @61
2. The number divisible by 3 is: [1]
(a)314 (b) 413 (c) 251 (d) 762
3. Which pairs are co-prime numbers? 1
(@ (17,34) ®) (7,21) © @9 (d) (56, 63)
4. The prime factorization of 56 is: [1]
- (@2x4x7 b)2x2x14 (€)2x2x2x7 (d)2x28
5.The perimeter of a regular pentagon with side 7 cm is: [1]
(8) 35 cm (b) 36 cm ()37 cm (d) 38 cm
6. A triangle with all sides of equal length is formed using 36¢cm long string, Length of each side
is [1]
() 36cm (b) 20cm (c) 18cm (d) 12cm
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7. Amulya and Amar visited two places A and B, respectively m}‘”hm“v}‘;i;fz}”tﬁzd f;ﬁlﬁ,mg
minimum temperatures on a particular day as - 4°C at A and - 1°CatB. ]
statements is true? A :

(8) B is cooler than A '

(b) A is cooler than B o

(c) There is a difference of 2°C in the temperature

(d) The temperature at A is 4°C higher than that at B

8. The side of a square table top measures 4 m. Its area will be s 3 [
(8)16sq.m (b)4sq. m (c)20sq. m (d)8sq.m
9.If§=%,thenpisequalt0: . '[.1-]
(@) 18 (b) 36 (c)22 @1
10. Which is the smallest fraction: [1]
ok ® 2 ©? @3
11. A merchant packed 1kg of sugar in four packets of equal weight. The weight of each packeitl]
is :
@ ke kg © e . @kg
12. How many lines of symmetry does an eqmlateral tﬁangle have: ! RIS 1]
@0 )1 " ©2 @3
13. A rectangle has an angle of symmetry of " (1]
(@) 60° ®)90° ©180°  (@270° .
14. Which of the following figure has countless lines of symmetry? | [1]
(a) Pentagon (b) Hexagon (c) Circle (d) Triangle
15. Which of the following is not a name for this rectangle: A B  [1]
(a) ABCD (b) CDAB
(c) ADBC (d) CBAD
D C
16. The value of (+4) + (-3) + (-2) is 1
@1 ®)(9) © (1) @ 3)
17. The integer which does not lie between -8 and 5 is: [1]
@(-5) ®) 1) ©1 @ (-9)
18. Which of the following is the greatest negative integer? [1]
Page 2 of 6
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Sy

(CVICR)) (b) (+100) (¢) (-200) (d) (1)

19. Statement A (Assertion): 3/4 of T 1 is 75 paisa, (1]
Statement R (Reason): A fraction is a number representing part of a whole.
(a) Both A and R are truc and R is the correct explanation of A.
(b) Both A and R are truc but R is not the correct explanation of A.
(c) A is truc but R is false.
(d) A is false but R is true. ,
20. Statement A(Assertion) : The factors of 28 arc 1, 2, 4,7,14 and 28 itself. (1] [
Statement R (Reason): Every factor is less than or cqual to the given number. ‘
(8) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) A is true but R is false.
(d) A is false but R is true.

‘ SECTION-B (5 x 2M=10
21. Find the common factors of 20 and 24. [2]

22. Find the distance travelled by Ravi if he takes four rounds of a square park of side 75 m. [2]
23. For each of the following figures, identify the line(s) of symmetry if it exists and draw them |

2]
(a)@ ® - : :

24. Construct a square whose side is 4 cm. 2]

25. In each of the following figures, a hole was punched in a folded square sheet of paper and
then the paper was unfolded. Identify and draw the line along which the paper was folded.

. Figure (d) was created by punching a single hole. How was the paper folded? [2]
O o o O O
o O
O
O O
a b c d

SECTION-C (6 x 3M=18M)

26. Construct a rectangle of sides 8 cm and 4 cm. Then construct a square inside, as shown in the
figure, such that the centre of the square is the same as the centre of the rectangle? [3]
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27. Can we have a figure with rotational symmetry whose smallest angle of symmetry is

@45  ()17° . Explain. [3]
28. You start with %0 rupees in your bank account, and then you credits of 330, ¥ 40, and 350, Q
and debits of 10, 40, and X55. What is your bank account balance now? E}

29. (a) What is the smallest number whose prime factorisation has four different prime numbers?
(b) The prime factorisation of a number has one 2, two 3s, and one 11. What is the number?[3]

30. Write the following fractions in ascending order. [3]
zazs
10’15’ 5’6

31. Complete the following sequences: 3]

(a) (§'40)’ (_34)’ (_28)s (—22)’
(b) 3’ 4’ 2, 5, 1, 6) 0, 77

5> 3

SECTION-D (3 x 4M =12M)
(CASE STUDY BASED QUESTIONS) Y

32. The level of the surface of oceans or seas is called the sea level. Land and hills are raised and
are at some height from the sea level.

City A is 10 m below sea level, City B is 28 m below sea level and City C is 14 m above sea
level.

Above sea level is shown using the ‘+* sign.
Below sea level is shown using the - sign.
The sea level is considered to be zero elevation.
Aditi uses the above rules to represent the elevation of different locations
(a) Which of the three cities is at the highest elevation from the sea level? Write its elevation. [1]
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" () Wil\ﬁt wo(ﬁd be the elevation of City B? 5 ‘ R

e

RS i

(c)Thé elevation of City D is 1 m above the elevation of City B. What is the elevation of City D?

» ey _l', (st

e e

& & X oomple}c border on'a

RS

|.( \u\
N

RN

Le

table cloth whose penmeter isil 'metervlo g

URRT T PSR et

) ‘Find the total length of the Jace they bought fogether S
(b) Who bought a longer lace and by how much?
(c) Will the lace be sufficient to cover the whole border? Explain

34.A square shaped park ABCD of side 100m has two equal rectangular flower beds each of ;
size 10m x 5m.With the help of the figure gwen below, answer the following questions:

Coes

(a) Hoyg much area do the flower beds cover? ‘ [1] ‘
®) Find the area of the park excluding the flower beds. [2]
(c) Find the perimeter of a flower bed. " (1]

- SECTION-E (4 x 5SM =20M) - N S , ';
335. Rectangles and mangles are drawn on a grid paper as shown below. If each small square is of '
51de 2 cm, find the area of

R e
ﬁ;@%@%{v@i%ﬁ" il

! 3 tf{}n'm;,"' o
\}w%;ﬂ'g:é'{{‘{oﬁa '
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() Rectangle ABCD (ii) Triangle ABD (iii) Triangle ABE.
(iv) What is the relation between the area of rectangle and triangle in this case [5M]

36. Construct a rectangle in which one of the diagonals divides the opposite angles into 50° and
40° and length is 7 cm.

[5]
37.Do as directed:
D Add: 3 3 g
@ X E o+ :
(i) Subtract: =——
129 10
(iii) Express 52 mixed fraction
(iv) Reduce %to the lowest term
. :’g

BH@CED+TEFT) = (5]

b) +H-(-3)=___
©QEA+E) =
@) -(+4) =

@EH-GDE=_
OO+ =

(ii) One button is kept at — 3. In which direction and how many steps should we move to

reach at —9? Explain using a number line.
ST LA RS L AL E L EL L]
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Atomic Energy Education Society
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e

HEIT/Class : VI 3rafiY /Duration :3 Hours
i i : 80
Rw/Subject :Science frFaH id/Maximum Marks : 8

WA f1Ser/ General Instructions:

1.The question paper comprises twWo sections. A anq B . -
2. Section A: Q.1 to Q.20 are multiple choice questions and each question carres 1 mark.

3.Section B:Q.21 to Q.29 arevery short answer type questions and each question carries

2ma.rks.Q‘30 to Q.37 are short answer type questions and each question carries 3 marks.
Q.38and Q.39 are Case Based Questions and each question carries 4 marks.
Q.40and Q.41 are long answer questions and each question carries 5 marks.

4. Draw neat and labelled diagram wherever necessary.

5. All questions are compulsory.

‘0

SECTION A
Choose the most appropriate option (20X 1=20)

1.Neena spilled some water on the floor. She cleaned the water using a mop. Which material
is best suited for making the mop?
(a)Iron sheet  (b)Cotton cloth (c)Plastic sheet (d)Copper sheet

2.What happens to some metals when exposed to air and moisture?

(a) They become transparent. (b) They dissolve.

(¢) They lose their lustre. (d) They become lustrous.
3.What is the of SI unit of volume?

(2) Millilitre(mL) (b)Litre(L)

(c) Cubic metre(m3) (d)Cubic centimetre(cm3)

4,Which one among the following shows the correct way of measuring temperature of water
using a laboratory thermometer

Page1of6

G Scanned with OKEN Scanner



1l the &iy
Uused for Cook

foa\ry

S.Which of'the following devices is used for measurement of temperature of human body?

(@)Stethoscope (b) Clinical thermometer

(¢) Laboratory thermometer (d) None of these '

6.Aavi asked for a glass of water from Thiray. He gave her a glass of ice-cold water. Aavi

observed some water droplets on the outer surface of the glass and asked Thirav how these

droplets of water were formed. Which of the following should be Thirav’s answer?

(a) Evaporation of water from the glass (b) Water that seeped out from the glass

(c) Evaporation of atmospheric water vapour(d)Condensation of atmospheric watervapour

7.If a container of water is left in a room where the temperature is 20° C but the humidity is

very high, what happens to the rate of evaporation?

(a) It increases due to higher temperature. (b) It decreases due to higher humidity. .
(c) It remains the same regardless of humidity. (d) It increases due to lower pressure.

8. Which of the following mixtures would you be able to separate using the method of

filtration?

() Oil in water (b) Comnflakes in milk () Salt in water (d) Sugar in milk

9.Butter is separated from milk by

(2) sedimentation  (b) filtration (c).churning (d) decantation

10.The property which forms the basis of sieving is
(a) difference in weight

(c) difference in shape

(b) difference in colour

(d) difference in size

11.Touch-me not(mimosa) plants fold their leaves when we touch them. Which feature of the
touch- me not plant is shown by this?
(a)It grows. (b)It responds to stimulus, ’
(o)1t takes in air through its stomata. (d)It reproduces.

12. A plant is provided with all the conditions suitable for its growth. What would you expect

to see in the shoot and the root of the plant after one week?
(2)Root grows upward, shoot grows downward

(b)Root grows downward, shoot grows upward

(c)Both shoot and root grow upward

(d)Both shoot and root grow downward f)ot kept the d
13. Which of the following is a renewable resource?

(a) Coal ~ (b) Petrol (c) Forest (d) Natural Gas
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14.]In the iven illustration, we see that food is being cooked. What type of energy is being
usad for cooking?

(Q)Hydropower

(b)Solar encrry

(c)Wind energy ’_ A
(d)Nuclear energy

15.Which planet is called morning star or evening star,

a) Venus b) Mars c) Jupiter. d)Mercury.
16.The galaxy which our solar system belongs to is

(a)Milky Way Galaxy (b)Andromeda Galaxy
(c)Whirlpool Galaxy (d)Cartwheel Galaxy

17.The following picture shows an instrument which is used to observe and study objects in

space such as stars, galaxies, planets, and other celestial objects. The name of this instrument

(2) Telescope
(b)Microscope
(c)Periscope
(d)Binocular

Directions: Question number 18 to 20 consist of two statements-Assertion and Reason.
Answer the questions by selecting an appropriate option from below:

(a) Both Assertion and Reason are true and Reason is the correct explanation of
Assertion. -

(b) Both Assertion and Reason are true but Reason is not the correct explanation
ofAssertion.

(c)Assertion is true but Reason is false.

(d) Assertion is false but reason is true.

18.Assertion: Chalk powder can be separated from water by sedimentation and decantation.
Reason: Chalk powder is soluble in water.

19.Assertion (A): The presence of water is not essential for the germination of seeds.
Reason (R): Water softens the seed coat and helps the tiny embryo to develop into a plant.
20.Assertion (A): We feel cooler when we sit under a fan.

Reason (R): Moving air helps the sweat to evaporate and and cool us.
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SECTION B (9X2-18)

VERY SHORT ANSWER QUESTIONS , d insoluble in water.
21.Classify the following things into two groups: soluble in water an
[Salt, sawdust, sand, sugar] o ih do not mix with water
22.Do all liquids mix with water completely? Name two liquids which do
and form a separate layer when left undisturbed, s Kelvin scale.
23.What i the boiling point of water according to Celsius scale?Convert itinto
24.Name the processes A, B, C and D (conversion of different states of water)

Gas )

25.Water is separated from rice and pulses after washing them. Name the methods of
separation involved in this process.

26.(i)Identify “ A “and ‘B <.
(i) What does * A ¢ develop into?

27.List four activities that are possible due to the presence of air.
28 Which planets is called the red planet? Giye Teason, )
29.Even though some of the stars are much bigger than the Sun

()Identify the instrument shown in the picture,
(ii)What is the yse of this instrument?

(iii)What is jts advantage over digital clinical thermometer9
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CASE STUDY BASED QUESTIONS (2x4=8)

38.0bserve the life cycle of amosquito and answer the following questions:
A
K@‘/ | C

(i)Identify and name A,B, C and D. 2
(ii)Why do A and B move to the surface of water? )

(1ii) What can be sprayed on the surface of water to stop their growth? How does this process
disrupt the lifecycle of a mosquito? ¢))

39.Soil formation is a natural process that occurs over thousands of years through the
disintegration or weathering of rocks, facilitated by the actions of the Sun, water and living
organisms. As rocks break down into smaller particles, these particles, combined with
decaying plant and animal matter, contribute to the creation of fertile soil. Soil is composed
of various particles, including sand, pebbles and organic matter, as well as living organisms
like earthworms and microorganisms. Organic matter enriches the soil with essential
nutrients, while earthworms help improve soil structure by turning and loosening it, which
enhances air circulation and root growth.

(1)Soil is primarily formed through the (melting/ weathering) of rocks ¢))
(ii)Which of the following is a benefit of earthworms in the soil? 0))
( They increase soil acidity. / They improve air circulation and root growth.)

(iif)Name any two things present in soil. . ¢))
(iv)If we collect soil from different places, will it be of the same colour or different? Why?(1)

LONG ANSWER QUESTIONS (2X5=10)
40.(i)Mercury thermometers are being replaced by digital thermometers. Give reason. ()

(i) Write the correct way of measuring temperature of warm water using a laboratory

thermometer. . 3
41.(1)Differentiate between living things and non-living things. (¥))
(i)Draw the life cycle of a plant and label all the stages. 3

**************************************************
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32.In which of the following cases evaporation take place faster? Give re

them.
(i)A cup of water kept in sunlight/ in shade
(i1)Equal amount of water kept in a cup / in a plate

ason for each of

33.How does water keep in an carthen pot (matka)becomes cool during summer?
34.A mixture of iron nails, salt, oil and water is provided to you. Outline a stepwise

procedure for separating each component from this mixture. (You need to get back iron nails,

oil and salt)

35.0bserve the picture and answer the following questions.

(i)Name the process.

(ii)Define the process.

(1if)Why do farmers use this process?

36.The following pie chart shows the composition of air.

Nitrogen.

Carbon Dioxida
0.04%

Other Gases and
Water V‘%f‘"'
0.96%

(i)Which gas is present in air in the largest amount?

(ii)Which gas is needed by living beings for their survival?

(iii)Which gas is released on burning fossil fuels?

37.What are constellations? Draw any two constellations and name them.
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s fEw / General Instructions:

This question paper comprises Five sections: A, B, C, D, and E and F.

There are 37 questions in this question paper.

Section A: Questions from serial number 1 to 20 are MCQs of 1 mark each.
Section B: Questions from gerial number 21 to 24 are Very Short Answer Type

Questions, carrying 2 marks each. The answer to each question should not exceed 40

words. .
e Section C: Questions from serial number 25 to 29 are Short Answer Type Questions,

carrying 3 marks each. The answer to each question should not exceed 60 words.

e Section D: Questions from serial number 30 to 33 are Long Answer Type Questions,
carrying 5 marks each. The answer to each question should not exceed 80 words.

e Section E: Questions from serial number 34 to 36 are case-based questions with four
sub-questions, carrying 4 marks each. _

e Section F: Question number 37 is map-based, carrying 3 marks.

SECTION A
MULTIPLECHOICE QUESTIONS (1X20=20 MARKS)
1.What does the term “Buddha” mean?
a)The Eternal b) The Enlightened One
DA ¢)The King of Peace d) The Divine Teacher
2 Which ancient civilization is considered a part of India’s cultural roots?
a) Mesopotamian Civilization b) Egyptian Civilization
¢) Indus Valley Civilization d) Greek Civilization
3.Who are the elected representatives of a Gram Panchayat?
a) Sarpanch and Panch b) Mayor and Councilor
c) Collector and Tehsildar d) Chief Minister and MLA
4 Which conrt s the highest at the national level in India?
a) High Couié b) Supreme Court

c) Disu'iﬁid‘ d) Sessions Court
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S.Who is the nominal head of the Republic of India? v ~
. . - 0
a) Prime Minister b) President

&
. . \
¢) Chief Justice d) Governor ‘

6. Which of the following is NOT a function of the State Government?
a) Defence b) Public health
¢) Education _ d) Agriculture

7.What is the motto of the Government of India?
a) Truth Alone Triumphs  b) Unity in Diversity
¢) Satyameva Jayate d) Service Before Self

8.What is the full form of MIA? .
a) Member of Legislative Assembly  b) Member of Legislative Authority

¢) Member of Local Assembly d) Minister of Legislative Affairs

9.Which of the following is an example of cultural diversity in India?

a) Similar food habits b) Uniform customs across regions

¢) Different customs and traditions d) One language spoken in all regions

10.Which of the following is NOT an example of a responsibility of family members?
a) Providing emotional support b) Ensuring everyone’s safety
c) Ignoring each other’s needs d) Sharing household chores
11.Who is known as the Missile Man of India?
a) Dr. BR. Ambedkar b) Dr. AP.J. Abdul Kalam @
¢) Dr. Manmohan Singh d) Dr. Vikram Sarabhai
12.What does the word “Democracy” literally mean?
a) Rule of the people b) Rule of the king
¢) Rule of the army d) Rule by a single leader
13.What is the minimum age to vote in India?
a) Sixteen - b) Eighteen
¢) Twenty-one d) Twenty-five
14. At which level does the Gram Panchayat function in the Panchayati Raj system?
a) National level b) State level

c) Village level d) District level
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15.Who is the head of the Gram Panchayat?

a) Secretary b) Sarpanch
¢) Chief Minister d) Councillors
16.Which of the following is a primary cconomic activity?
a) Agriculture b) Manufacturing
¢) Communication d) Transportation

17. Which of the following is an example of an economic activity?

a) A teacher conducting classes in school b) A mother cooking food for her family

c) A child playing in the park d) A volunteer cleaning a public park

18.Which economic sector is known as the service sector?
a) Primary sector b) Secondary sector
¢) Tertiary sector d) Quaternary sector
19.Where did Buddha attain enlightenment?
a) Sarnath b) Lumbini
¢) Bodh Gaya d) Kushinagar

20.In which state is the headquarter of AMUL, the famous dairy cooperative, located?

a) Gujarat b) Maharashtra
c) Tamil Nadu d) Rajasthan
~ SECTIONB

VERY SHORT ANSWER TYPE OF QUESTIONS  (2X4=8)

21.Which are the two major Indian Epics?
OR
What do you understand by the term’ Epic'?
22.What does the separation of powers mean?
; OR
What is the meaning of the term ‘government'?

does India have representative democracy?
at do you understand by the term ‘Grassroot Democracy’?
* OR

te the three levels of the Panchayati Raj system.
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SECTION C “d;f
SHORT ANSWER TYPE OF QUESTIONS (3X5=15) o
25. Explain the importance of family in society

OR

Differentiate between a nuclear family and a joint family,
26.What is meant by ‘unity in diversity’ in the Indian scenario?
OR
What aspects of India’s diversity are the most striking?
27.What is the contribution of folk and tribal traditions to Indian culture? {)
28. Differentiate between economic and non-economic activities with examples

29. How are the three economic sectors interconnected?

OR

What is the primary sector? How is it different from the secondary sector?
SECTION D
LONG ANSWER TYPE OF QUESTIONS (4X5=20)
30.Explain a few central ideas of Buddhism.
OR
Explain a few central ideas of Jainism,

31.In which areas of daily life does the government play a significant role? Provide

V)

examples,

32.Which are the three organs of government. What are their different roles?
OR

Why do we need three tiers of government?Explain.

33.What similarities and differences do you notice between the Panchayati Raj system and
the urban local government?Explain.
SECTIONE
CASE BASED QUESTIONS (4X3=12)

Read the Source and answer the following questions.

34.The word "Veda" comes from the Sanskrit root vid, meaning 'knowledge.' The four Veda
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are among the world's most ancicnt texts, compqscd as hymns in the form of prayers, pocms,

and songs. Thesc hymns, created in the Sapta Sindhava region, were transmitted orally over
gencrations with remarkable precision. The Rig Veda, the oldest, dates back to somewhere
between the Sth and 2nd millennium BCE. Composed by rishis (seers) and rishikas (female
sages), these hymns, in early Sanskrit, are addressed poetically to various deities.

34.1.What does the word “Veda” mean in Sanskrit? 1
34.2.How many Vedas are there? Name them. 2
1

34.3.What is the language in which the Vedic hymns were composed?

35.Families are connected not only within themselves, but also with other families and' the
people around them. Such a group of connected people may be called.a ‘corrgmumty’.
Members of a community come together for various reasons, like celebrating festivals and

and other events.In some communities, shared resources like

organising feasts, weddings
w,vagtae:xxl'1 am:lg land arc governed by informal rules that ensure everyone has access. In the Jhabua

region of Madhya Pradesh, the Bhil community faced a water crisis and, following their
halma tradition of mutual support, they planted thousands of trees, dug trenches, and created
water harvesting structures without payment. Their efforts, aimed at serving Mother Earth,
earned recognition, including the Padma Shri award for Shri Mahesh Sharma in 2019 for his

transformational work with the Bhil communities.

35.1.What do you understand by the term ‘community'? 2

35.2.Jhabua region located in Which State of India? 1

35.3.What actions did the Bhil community take to address the water crisis in Jhabua?
(Any one action ) 1

36.Local government structures in urban areas are called ‘urban local bodies’. Cities and
towns are divided into smaller units called ‘wards’, and the ward committees facilitate
activities such as conducting health camps, organising a campaign against the use of single-
use plastics, and so on. Altogether, urban local bodies are responsible for a range of functions
— helping take care of the infrastructure, maintaining the burial ground, garbage collection
and disposal, checking the implementation of government schemes, collecting local taxes and
fines, and so on. They also have some role in planning for the area’s economic and social
development.

36.1.What are local government structures in urban areas called? 1

36.2.What are the smaller units of a city or town called? 1

36.3.Write some functions of Urban local bodies. 2
SECTION F

MAP BASED QUESTIONS (1X5=5)

37. On an outline map of India, locate and label the prominent States where the following
local festivals are celebrated.

1.Pongal 2.Magh Bihu 3.Lohri 4.Makaravilakku 5. Poush Songkranti
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